HAESEBMRE=FI I RR-E(ZRUUN)

[=FRPH])

BiERE
No. HEB s Ay BE HEAHR BEAA (L)
Ba/kg
1 Bk fmE™ B533 H31.1.13 H31.2.21 97
2 B mE™ B533 R5.1.17 R5.2.20 67
3 Bk fBE™M B521 R5.10.8 R5.12.5 200
4 Bt fBE™ B524 R6.9.23 R6.11.14 340
5 it fmE™ B522 R6.12.8 R7.1.28 270
6 B B B114 H23.12.18 H23.12.25 138
7 B Lt B111 H23.12.20 H24.1.13 234
8 R BT B221 H24.2.11 H24.2.24 155
9 B AT B021 H29.6.5 H29.7.28 340
10 B BT B023 H29.7.3 H29.9.6 180
11 B BT B012 H29.8.1 H29.9.26 140
12 B B B012 H29.9.4 H29.10.27 210
13 B BT B012 H30.4.2 H30.6.27 160
14 B B B111 H30.6.5 H30.8.2 25
15 B it B021 H30.6.8 H30.8.2 90
16 B BT B012 H30.6.8 H30.8.2 150
17 B B B012 R5.6.9 R5.8.3 110
18 Bh BB E711 H26.1.15 H26.2.17 52
19 B AENTH E711 H26.1.19 H26.2.17 92
20 R h AEIT E732 R5.9.13 R5.10.30 18
21 B BB E732 R5.11.15 R5.12.27 29
22 B KEH E711 H27.2.8 H27.3.13 85
23 2¥c3) =Pl E613 H23.11.27 H23.12.9 437
24 B iz E601 H23.11.30 H23.12.9 209
25 2¥c3) Fa AT E611 H23.12.26 H24.1.13 573 X
26 =i RIEEW™ A073 H28.6.17 H28.7.12 21
27 =g SEENT A272 H28.10.24 H28.12.21 34
28 =iE =EENT A271 H30.2.5 H30.3.22 17
29 =i KEENT D773 H30.7.12 H30.9.6 13
30 =g SEENT A073 R2.6.23 R2.7.14 19
31 E 3= SEENT A272 R3.6.30 R3.8.2 12
32 =i KEENT A272 R3.11.3 R3.12.14 79
33 =g E=p=#=1 VNI A274 R4.6.4 R4.7.19 20
34 EP= SEENT A272 R4.9.4 R4.10.20 21
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35 =i SEENT A272 R5.9.25 R5.10.30 5.3
36 =iE =EENT A171 R6.6.5 R6.7.23 24
37 =i E%A™ A472 R3.8.22 R3.9.14 21
38 =g E%A™ A464 R3.10.9 R3.11.11 66
39 =i# E&AT A473 R3.12.10 R4.1.20 14
40 o =25 A472 R5.11.26 R5.12.27  [Baier. ousros
41 =g a2 HT A244 H25.1.23 H25.2.1 19
42 - 9= 2T A454 H25.2.9 H25.6.12  [fRifies 6701540
43 - 9= =2 A454 H26.1.7 H26.2.17  [[Rifies <so(isice)
44 =g a2 HT A253 R5.5.8 R5.6.29 26
45 2iF LifE=3= ) A344 R5.10.12 R5.125  |[PHEY  esusios
46 &% [Py :) A344 R6.5.9 R6.6.25  [55isce cszciars
47 o= i =3=2:i1) A344 R6.5.17 R6.6.25  [[BHE  iensice
48 &2 ey 4:) A344 R6.6.5 R6.7.23  [§5sce cesciarcs
49 R FEREET A344 R6.6.6 R6.7.23  [R&EY  sansrce
50 =i [EEJ= 1) A244 R6.6.6 R6.7.23 30
51 - 9= L3 1) A244 R6.6.10 R6.7.23  [BEE  eonsrce
52 =g a2 HT A351 R6.6.22 R6.7.23 6.9
53 =iE a2 HT A253 R6.6.25 R6.7.23 9
54 =iE P 2T A352 R6.7.3 R6.8.29 10
55 ey FaE AT A344 R6.7.16 R6.8.29  [BHEY  sonsice
56 =i [EE3= 1) A244 R6.8.10 R6.10.8 6.2
57 =g [iEEd= 1) A244 R6.9.2 R6.11.14 6.4
58 =g [EEJ= 1) A244 R6.10.4 R6.12.10 19
59 SiE [iEE 3= 1) A253 R6.11.8 R6.12.17 P27  esaarce
60 =i Y HT B314 H24.2.13 H24.2.24 118
61 =g Yam KHT B113 H27.8.30 H28.3.22 19
62 =iE EERE B113 H27.10.27 H28.2.10 32
63 =g Y HT B312 H28.10.7 H28.12.21 190
64 =iE Yam KHT B113 H29.9.2 H29.10.27 31
65 =i Y HT B113 H29.9.14 H29,10,27 240
66 =g Y KHT B114 H29.10.23 H29.11.16 71
67 =iE Y KHT B213 H30.7.8 H30.9.6 90
68 =g W2 ET A152 H31.2.24 H31.3.25 9
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69 R H;EET A152 H31.2.24 H31.3.25  [[REgzeciscs
70 2iF < ILET A141 H31.2.2 H31.3.25  [fAhgressece
71 =iF = 5HT A151 R6.6.28 R6.8.29 43
72 =g = 5T Al44 R6.11.23 R6.12.17 17
73 =iE RIEEEBET A061 H27.1.16 H27.2.20 14
74 [P T 4ERET D771 R3.10.3 R4.1.20  |feereioscaaiascs
75 [ T 4ERET D773 R5.7.2 R5.8.31 7.8
76 3= R T D734 R4.9.2 R4.10.20 13
77 [ d= FA = EET D432 H23.11.23 H23.12.9 244
78 MR A EHET D563 H24.1.17 H24.1.27  [[Rliggsiscy
79 [FaEF= =IEHT D652 H28.2.14 H28.3.25 6.6
80 ARE AR EHET D652 H28.2.14 H28.3.25  [B%27 eeisice *
81 [EIf = P =2 HT D343 H28.5.22 H28.7.12 60
82 EJ= EEEE L) D343 H28.5.29 H28.7.12 22
83 =i EEEE L) D443 H28.6.9 H28.7.12 63
84 =iE FA =2 HT D641 H28.6.16 H28.7.12 35
85 =iF FA =2 HT D641 H28.6.20 H28.7.12 12
86 =g FA =R HT D343 H28.6.19 H28.7.12 33
87 =iE FA=EET D532 H28.6.24 H28.7.12 16
88 AR AR EET D434 H28.7.11 H28.95  |[A%ey @ isrce
89 [EIfd= FA =2 HT D441 H28.7.10 H28.9.5 72
920 =iE FA =2 HT D441 H28.9.22 H28.10.21 37
91 =i F = EET D432 H28.10.19 H28.12.21 65
92 =2 FA =2 HT D432 H29.1.22 H29.2.10 35
93 =iF FA =2 HT D554 H29.1.22 H29.2.10 11
94 =g =2 D443 H29.6.18 H29.7.28 34
95 S R EHET D543 H30.1.7 H30.2.13  [[Rilies <es(isics
96 -y R EHET D652 H30.1.7 H30.2.13  [fRilies ses(isice
97 =iE FA =R HT D554 H30.1.8 H30.2.13 14
98 S AR EET D563 H30.6.11 H30.8.2 [y ser(1sice
99 2iF -3 4:) D563 H30.6.6 H30.8.2  [fRtes 70040
100 =g FA =2 HT D563 H30.6.13 H30.8.2 7.1
101 =iE FA =2 HT D643 H30.7.1 H30.9.6 9.2
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102 [FaEE ST D662 H31.1.27 H31.3.25 7.0
103 =2 FA =2 HT D554 H31.4.27 R1.6.13 38
104 =3 R = iR T D563 R1.5.2 R1.6.13  [Ftises %
105 E-g= EE-3= 1) D563 R1.5.8 R1.6.13  [[RHiEy s72t13609
106 =iE FA =2 HT D563 R1.5.13 R1.6.13 6.2
107 =3 R = iR T D554 R1.5.14 R1.6.13  [[Bi5es >t
108 =g FA =2 HT D563 R1.5.15 R1.6.13 13
109 =iF FA =2 HT D554 R1.5.18 R1.6.13 10
110 =i R = iR T D563 R1.5.18 R1.6.13  [[Fises 0%
111 =iE P =2 HT D563 R1.5.20 R1.6.13 9.6
112 =iF FA =2 HT D554 R1.5.28 R1.6.13 22
113 =g =2 D443 R1.5.29 R1.7.19 350
114 =2 FA =2 HT D563 R1.6.4 R1.7.19 7
115 o2 Ry 2] D563 R1.6.8 R1.7.19 (134050 N 13100
116 2iF AR AT D563 R1.6.8 R1.7.19 (650134005t
117 =i =EET D563 R1.6.13 R1.7.19 14
18| mRE B3 3: D563 R1.6.14 R1.7.19 (65034005
19| msE AR EET D563 R1.6.18 R1.7.19 Ostsceeie?
120 mER#E EEE L) D563 R1.6.20 R1.7.19 15
121 mEe 2T D554 R1.6.23 R1.9.2 80134057 0700
122 mERE R AT D554 R1.6.26 R1.9.2 PRI, o
123| @ AR EET D563 R1.6.26 R1.9.2 saisceEe?
124 | mERE EEE L) D563 R1.6.26 R1.9.2 9
125| @ 2T D563 R1.6.27 R1.9.2 (260134050 K 13700
126 | mRE 23 3: D563 R1.6.27 R1.9.2 PRI A
127 ®ER#E EEE i) D661 R1.6.29 R1.9.2 7
128| mM=E FAREET D554 R1.7.2 R1.9.2 P A
129 mEEE =IEHT D563 R1.7.10 R1.9.2 8
130 mMRE FA =2 HT D563 R1.7.26 R1.9.2 88
131 3= FA = EHET D563 R1.7.26 R1.9.2 5
132 msE ST D554 R1.7.28 R1.9.2 (sssce e
133 | mEeE 2T D563 R1.8.3 R1.10.1 (5001345 B aT0D)
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134| ®E=# AR EET D563 R1.85 R1.10.1 ausceae?
135 | mMRE EEE L) D554 R1.8.12 R1.10.1 16
136 | FERE F = EET D563 R1.8.17 R1.10.1 5
137 mER#E FAS AT D563 R1.8.18 R1.10.1 (6300
138| mMRE FA =2 HT D563 R3.5.9 R3.8.2 rtscee
139 mER#E EEE L) D661 R3.11.27 R3.12.14 9.5
140 | mEeE Ry 2] D661 R3.12.7 R4.1.20 (6813405 B aT0D)
141 [ FA =2 HT D542 R4.1.2 R4.2.16 7
142| ®E=E AR EHET D554 R3.12.29 R4.2.16 (estscee?
143 | mRE FASEET D662 R4.2.19 R4.4.13 RN A
144 | Rz Ry 2] D661 R4.2.25 R4.4.13 (6901340561876
145 | MLz RIL 2 ET D661 R4.2.25 R4.4.13 2 o1oRCe e 13768
146 | FRE EE-3:20] D562 R4.2.27 R4.4.13 BN A
147 mER#E FASEET D562 R4.2.27 R4.4.13 Ao 70e
148 | Rz Ry 2] D562 R4.2.27 R4.4.13 (B 134084818760
149 | mE&E EE-3:4:] D661 R4.3.1 R4.4.13 (013709
150 | FRE ZE-3:20] D741 R4.3.1 R4.4.13 stro e e
151 | msE -3 3 D741 R4.3.1 R4.4.13 o e
152 | MRz R3] D652 R4.3.2 R4.4.13 (56013405 013709
153 | FRiE EZE-3:3:0] D652 R4.3.3 R4.4.13 ot 0w
154 | FRE ZE-3:20] D661 R4.3.4 R4.4.13 i e
155 | mRE -3 3 D661 R4.3.4 R4.4.13 e 3700
156 | MR R3] D652 R4.3.9 R4.4.13 (65013405 213709
157 | ®ERE A EHET D652 R4.3.13 R4.4.13 A 0w
158 | mRE FIS AT D641 R6.7.10 R6.8.29  [BHEY  csisrce
159 | FER#E FA = EET D551 R6.7.11 R6.8.29 12
160 mEE 2T D643 R6.8.7 R6.10.8 7.3
161 [ FA =2 HT D642 R6.11.19 R6.12.17 27
162 mERE A%k A D322 H24.10.30 H24.10.20 190
163 | FERE AR D333 H28.10.20 H28.12.21 28
164 | FERE AR D333 H28.10.28 H29.1.10 24
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165 BAaE RS T D333 H29.6.12 H29.7.28 28
166 BeE g s ) D333 H29.10.18 H29.11.16 24
167 [FEEJE b s D333 H30.6.11 H30.8.2 23
168 [ & %I 4+ D333 H30.9.26 H30.11.26 19
169 BAeE & A% s A+ D333 R1.9.25 R1.10.23 6
170| R R A A D333 R4.11.1 R4.12.21 (21540 319708
—RoTh GRERBLUATICHELTWV=tD)
. . ZERE
No. HER S Iy 1 BE fHERHA B®REARHR (o9 L)
Ba/kg
1 [FE== b s D322 H23.10.2 H23.10.20 464 *

BiEEE L s Ccsh A E

X, H24.3.31 LIATFHE TCs 2% FE B 51 H500Bq/keF B Z TLVBHEHD,

* (X, H24 41 LIP% B TCs 2% E B 5T H100Ba/keF B A TLV\BED . R UH24.3.31 LLRITFAE TCs2#% & B 51 H100Ba/ kg%
BATWWSL0,

RORERIBEZTFH23F10A3B THAHA . HHTF KYENLURTIHELRIKIZDOLTE
BREKELAHY . REDORRELT=,



